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RFKEERER
A REES3> EFKA 2UHF (2A) vyl BAL BR| BE
[1HESIREST IS o7 Ux 12 35.52 6
2| GR) Do HmET BTN oo 14 36.11 4
3 GHR  [HH KA T 11 38.08 3
4/ (TCC) [NH /AJL vFH b 10 38.87 2
5| (K) [&H ) AL TX 17 39.39 1
6] GRE) [BiK =7 I 15 40.65 0
71 () |AR HkT A~ARXI Fa 18 41.25 0
(#E) Dhig ST EAW A 16 DS 0
ESIENIEZS FHHY a3 13 DS 0
1 KEERHER
[FAREES> EFKA J2UHF (2A) vyl BAL BR| BE
1| (K) |5H #HE EPZR YA 114 30.31 3
1| (TCC) /bl dAusp2F oY~ 7 kA 113 30.31 3
3] (RDC) [LAy ¢ HILT YHhHxT 111 32.95 1
4| (FE) [Fhl &IA LAT¥ Hhtuo 112 37.61 0
5] (@) [EEA BN YEr A9URT 110 50.87 0
B2 KEERHER
[FAREES> EFKA 2UHF (2A) vyl BAL BR| BE
IHECREERESES FHhH  FA 89 30.46 8
2| (WE) [P0 & RN 4 99 30.79 6
3] (K) M= fckn FHh~H "I AR 88 30.87 5
4 (M) [ZeE 2 THF HA N 87 30.99 4
5| (FE) [T ] AT Ay 85 32.01 3
6| (WE) M E i LTI ~Hhv 100 32.06 2
7| _(Tceo) M3 &= LA HHhba 95 32.79 1
8] (m) [+ IF FhA ko 98 33.10 0
9] (m) [HH #¢k Juair Ty 96 33.66 0
10| (TCC) |/ME  #ksh AHH T xbeno 90 34.40 0
11] (RDC) |HZE 3L AANIF BT 73 97 34.65 0
12 (FR) AR st T H3 Y T 3I% 93 35.17 0
13 () |8 #EE HrY Y avw 91 35.79 0
14 (#E) |F& HL £ bnov 101 39.13 0
(FR) [&fHF & AhFH ~a bk 86 DS 0
(X)) bt =& Y 92 DS 0
(#E) e s — oV Ry auAF 94 DS 0
3 KEE=HER
[FAREE S EFKA 2UHF (2A) vyl BAL fR| BEE
1 GR PIBd 3§ BN FF 68 30.89 11
2l (K) [T K& EY~ YRy 52 31.42 9
3| (RDC) [/IiE  &IB FINH XA 74 31.74 8
4] (K) [FHE FEE A Y YA 54 31.95 7
5| (K) [H5mE # AT Y 72 32.28 6
6] CGR) | FH K& T AT 50 32.30 5
71 (K) | EW fuZ vITAX HAbn 63 32.36 0
8] () AR =& A~A X aXHF 62 32.43 3
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9] (XK) [KN = LT J)THY 55 32.84 0
10[ (RDC) &1 #Fk P E A 64 32.97 1
11 (FR) xR EH HHx FIF¥ 57 33.58 0
12| GF)  |®H A HiR Ak n 58 34.18 0
13| (TCC) [MWEH ES A UL 56 34.33 0
14] (FR) |2 HH FYx Y 71 34.46 0
15 (K) |#eik A— +rY auATF 78 34.77 0
16 (#&E) Jllo Lkt HUT T Tk 61 37.00 0
17| (TCC) |HWg #h— FHhy~ a4 F 67 37.06 0
18]  (AX) BRI B0 Y 79 38.33 0
19 (TCC) |tk Z=E Y~% bo~i 73 38.46 0
20| (#E) il B ~ )Y~ YL 69 38.80 0
21 (W) [H¥E H= =v Yy F¥AEZz 65 40.41 0

(FE) [ = I EEY 51 DS 0
(X)) [ st FHHD KR 53 DS 0
(TCC) [ffy b AA4ALT7 VT3 59 DS 0
(FR) |k 1EE HXIY od 60 DS 0
(RDC) [HHF 2rd X)L 66 DQ 0
(X)) |&% A 70 DS 0
(K) B ft 7 b7 bAIL 75 DS 0
(Tce) |rx  fwiT ¥ )7 76 DS 0
(TcC) |HH =Kk Y h o b A 77 DS 0
(Tce) [F] FHH kY RMET X 80 DS 0
B4 KEERHER
[FAREES> EFKA 2UHF (2A) vyl BAL BR| BE

1 GE)  URE s Ny b kvwn /T 44 32.23 9

AIGCIEN - P 29 32.74 7

3 (m) [tk —K HhU XA 30 33.15 6

4]  GHE) oM FEKER HHEXY Vavxow| 25 33.78 5

5| (R |l & Y~ axPh 27 33.86 35

5| (&) [l A FHHYU <Fk 37 33.86 35

71 (B Rk ] ab T 32 34.21 2

8] CE) [FLE 8B A/ vx T7IFX 26 34.57 1

9] (G K Bi+A] dA ) A 42 34.64 0
10 GR) ik & H A HY 45 34.78 0
11 (FR) HEE FT AU ay braXx| 39 34.89 0
12 (R) /b 3R AT T IF 35 34.90 0
13 GR) |KE = T A NH A 46 35.48 0
14 GFUE) S Bz U X3 by 33 35.87 0
15| (#&E) |[IF R ~V LT J=F 34 35.96 0
16[ (RDC) II.E (& HOH I FH A 43 37.77 0
17 CE) |&=f = B HoNY 2 38 42.46 0

(TCC) /hilr FE&E 2t~ I b 28 DS 0
(X) [HH & A A ~3a b 31 DS 0
GE) |5l IEBH tXTF YT 36 DS 0
(RDC) [HAy 5= F 7 LT NLE T 40 DS 0
(Tce) |i= R oY Vavoy 41 DS 0
5 KEERFER
[FAREES> EFKA 2UHF (2A) vyl BAL BR| BE

1) PIE =K HO~ IVUF 9 34.30 6

2| (FR) [FEHEH EBK AN =Y A 5 36.60 4

3] (TcC) WA ifg— NUE R BAAF 8 37.83 3

2/3



E57MITSCKE #HER 2016/3/2310:14

4] (BE) [&fF E RN KT 7 38.00 2
5| GUE) [k &k A s STFF 1 44.69 1
6] (TCC) [ILH =% Y~X ofbno 2 52.73 0
7| (RDC) |&M& Bk Y oNH L 3 53.07 0
(TCco) i &BZ IVYFIX ~HYea| 6 DQ 0
[EIETNIRES EJ ¥~ FI3I 4 DS 0
INEEBF X[EER ‘
BGL | S EFR4A POLPEES:) tybgr|l BAL &sR| wE
11 GR) | KE =ih H A NH IR 11 49.75 - | A=
2| GE) P KR RNEYVE 10 52.63 - | A=
3 (KR) [k Kl A b HA R 12 DS - | A=T>
INEELF KEER \
IBRL | FE5 EFRKA 2V)hF (&) tybr| BAL Brl| wHE
4 GHR)  [KRE FE FANHE ) 14 53.72 - | =T
5l (X)) [+ PR o EE 13 DS - | =T
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ZFOERfER
[V REES) EFKA 2UHF (£A) vy BAL B/r| B
1 (R R His A7 U=x 13 51.60 6
2l GR) Dl HET ARNERE 17 52.86 4
3| (E) [k =1 AYITA boo 11 53.57 3
4] (TcC) [NH AL vFHX eHY=x 12 53.89 2
5| (G [#LH PR R H T XA 10 56.34 1
6] (K) [ZH ) Y24 TYX)/ 16 57.45 0
11 (K [48% Hmidr A~ X =Fxa 18 60.64 0
(#E) Dok AT EPA AR E 15 DS 0
(X)) [ A %E FhHT 2 14 DS 0
A1 EERfER
[V EES) EFKRA 2UHF (£A) vy BAL B#/r| EE
1| (TCC) /bl masp2F oY~ T hA 111 39.28 4
2] (R) [HH HE IH T auX 110 41.11 2
3| (RDC) [ AT % HILT YHhHT 114 44.22 1
4 (FE) [k &)A LTt HZHbno 112 49.95 0
5] () [EHEA BN YEr AU RAT 113 66.05 0
2 EEsfER
[V EES) EFKRA 2UHF (£A) vy BAL B#/r| EE
1IHCEEEESES FHhH  FA 89 40.29 8
2| (W) % —=F THEF HAX K 87 41.31 6
3| (FUE) [T i KV XAy 90 41.68 5
4] (K)  [MpE - Ecn Fh~H K~ HR 88 42.23 4
5| (#&E) [J5 &k RN P 98 43.14 3
6| (#&E) [FE EE AT NI ~HhT 100 44.63 2
7] _(TCC) [/NE K5k FHH T x¥eno 85 46.24 1
8] (FR) [k skt T HAY T 3I% 92 47.07 0
9| (mn) [HEH ok JaRA TV 93 47.86 0
10[ (RDC) [EZ%E #3C AHIFX T 73 91 48.51 0
11 (m) R ¥ FhHF bul 99 50.50 0
12| (#E) | s T bvoy 101 50.92 0
13[ (TCC) [mH &HEZ LHA Hhbeo 96 51.34 0
14| () |&n #B HFY ) av 95 73.47 0
(FR) & (&5 ZHFH <~k 86 DS 0
(X)) bt =% XH T Ugr 94 DS 0
(f&E) [k 5 EDAWEEV Y 97 DS 0
3 EEnfER
[ REES) EFKRA 2UHF (2A) vy BAL #fR| HE
1| &) 5K =4£ A~AARI x4 52 39.93 11
2| GR) P 38 HUN FH Y 70 40.35 9
3| (R)  [KAT W= XLT ) THEY 57 41.99 8
4 (X)) [T & VEY~Y B hv 51 43.05 7
5| (FR) [tEx K Fh PHE hI¥ 55 43.27 6
6/ (RDC) [/ &5 FoXH XA 71 43.33 5
NECIES" T AN 50 43.78 4
8] (X)) [k FE&E A Y YAV 53 44.19 3
9] (X) |[EHW Fnz v K HAbn 63 45.13 0
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100 (G |®H A AR Ak n 62 46.28 1
11| (TCC) [WEH ES DA% 67 47.56 0
12| (K) Bk #® Y Y 72 47.98 0
13] (FR) |2 HH FYx Y 66 49.11 0
14 (F&EE) PO Lkt HUT T T 61 49.97 0
15 (K) B EF0 707 bIHR 77 52.28 0
16 (d&E) PDull B8 ~/LY~ Vb 65 52.38 0
17[ (RDC) |HH 2 2rT X)L 69 52.47 0
18| (TCC) |HWE #h— FHhy~ a4 F 73 53.11 0
19 (m) |HEE B2 =v FYy F¥AEZz 58 53.17 0
20| (TcC) [IUtR 7ZZE Y~% bo~i 74 55.61 0
(X)) st FHHD R 54 DS 0
(MR) [+ R EY 56 DS 0
(FR) |k 1EE HXIY od 59 DS 0
(RDC) [&1 #Wx hxa  bvIV 60 DF 0
(TCC) [ffy b AA4ALT7 VT3 64 DS 0
(X)) |&E A 68 DS 0
(K)  |B:F 1 7Yt 7  bAL 75 DS 0
(TCco) |y 1T Al ) T7ax 76 DS 0
(Tce) [F] HFHH kY RETF 78 DS 0
(KR)  |Wepg A— Hhy avAF 79 DF 0
(TCC) |HH &k Y h o b A 80 DS 0
B4 BlERiER
[AREES> EFKA 2HF (2A) vyl BAL BR| BE
1IHCE DR 28 42.11 9
2GR  |IRE 1M Ny b kvwn /T 43 43.27 7
3| (AF) [Hik 1] Ikt T 29 43.32 6
4 GE) [HE X5 A/ vx T7IFX 27 43.80 5
5| (&) [l A FHHY <F k 42 43.82 4
6] GRB) |k & H Ty AHY 45 45.35 3
71 G K BHHA] dA ) A 38 45.69 2
8] (GEE) [l HEKER HEXY Yooy | 26 46.56 0
9| (GH¥E) [l & tr~ axh 30 46.88 0
100 (W)  |#epkE —K HhY A XH 31 47.18 0
11 () /b 305 FRNT T IF 33 48.08 0
12[ (RDC) II.E (& HO I FH A 44 48.54 0
13 GR) |KE = tANH A 46 49.16 0
14 GRUE) S Bz U X} by 34 49.26 0
15[ (FR) HEE FT A ay b raXx| 41 50.85 0
16| (#&E) |[IF R ~V LT J=F 35 53.39 0
17] CE) |&t = ARy Sk 37 77.77 0
(TCC) /bl X 2t~ I b 25 DS 0
(X) [HH & A A ~3a b 32 DS 0
(GE) |5l IEBH tXTF YT 36 DS 0
(Tce) |H= R oY Vaoy 39 DS 0
(RDC) [BAy 5= F 7 LT NLE T 40 DS 0
5 ElEsfER
[FAREES> EFKA 2UHF (2A) vyl BAL BR| BE
1) PIE =K HO~ IVUF 9 48.01 6
2| (FR) [FEHEH EBK AN =Y A 5 53.29 4
3| (k) =k (& 2T R T 7 53.34 3
4] (Tco) [BA JE— NUE R BAAF 8 53.84 2
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5| (TCC) [VI>7Hn  EZ IVYrx¥ ~Hvreal 6 56.67 1
6| (GUE) [Tk &k A s STFF 1 61.13 0
7] (TCC) |IiH  ==%4 Y~#% oa¥ktbno 2 71.16 0
8] (RDC) [ BH#S Y oNH L 3 79.85 0
IR ¥~ FI3I 4 DS 0
INEAERF [EER ‘
BGL | S EFR4A J2)hF (&) tusrl B4AL &sR| wE
[ GR | K& st FANH XY 11 1:03.59 - | #=7>
2| GE) P KR RNEYVE 10 1:08.51 - | A=
3 (KR) [k Kl A b HA R 12 DS - | A=T>
INEAELZF [EER
IBRL | FE5 EFRKA 2V)HF (&) tusr|l B4AL Brl| wHE
4 GR)  [KkE FE A A oNH ) T 14 1:09.62 - | A=
5l (X)) [#Ji PR e EE 13 DS - | =T
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OkmEEBFE R
A REES3> EFKA 2UHF (2A) vyl BAL R EE
1| GUE) M S)A LAT% Hhtuo 57 38:08.7 10
2| (RDC) [EAy ¢ HILT7 YHhxT 56 47:27.0 8
3| (WE) Pl s HUT T T 61 49:23.3 7
4] (RDC) [#lEE 1§ YrXYU AL 55 51:45.2 6
5| GR [HH Fus AR Ak o 58 54:01.0 5
6] (X) ik A— Hhy avAF 60 73:22.5 4
(B |BH &= vavay FA4Y | 59 DS 0
3km FEBEFER
[AREES> EFKA 2HF (2A) vyl BAL BR| BE
1| (& |&r #E HFY A Yavy 45 15:54.7 7
2| (A [MH TR FHhE  FA 49 17:17.2 5
3] (K) [M{E ko FHh~H "I AR 50 17:50.0 4
4| (RDC) [&7 M Nxa hYIV 51 18:44.8 3
5| (M) [H)E IF FhA kol 39 18:52.4 2
6] (m) [HEE W= =v Yy F¥AEZz 44 19:31.4 1
7] (RDC) |&EZ%E 95X AHNIF BT 73 37 21:11.1 0
8| (#&E) [¥80 & R P4 47 21:57.4 0
9] (RDC) [HH Fa XFH ) 43 22:11.7 0
10 (m)  |%E —3F THF HA R 33 22:22.0 0
11 (TCC) /il Ausp2F oY~ 7 kA 48 22:35.5 0
12 (K) |Gk HEE A Y YAV 38 22:53.3 0
13] (FR) 2K HH FYx Y 46 23:27.7 0
14| (RDC) |/biE W% AINH XA 35 23:30.2 0
15 (K) |&EH #HE K TauX 34 23:51.8 0
16 (AX) | Tl & VEYY YRy 41 23:59.0 0
17] (FR) AR SR T HNY T3 40 28:54.0 0
18] (#E) | Hid £ by 36 32:05.2 0
19] (X)) R B0 Y 30 33:40.6 0
200 (m) [HH #¢k Juair TIY 32 60:33.0 0
(K)  |BF- 1 7 b7 bAIL 31 DS 0
(#E) e s — oy Ry auAF 42 DS 0
6km FEBEFER
[AREES> EFKA 2UHF (2A) vyl BAL fR| BEE
1| (Tce) & 1= ¥~ T 65 25:21.2 11
ACEE S +hy XA 76 29:00.2 9
3| (R Db F B FF 73 30:47.6 8
4 (F) [BR =4E A~A X axHF 78 34:24.7 7
5| GR) | ¥ K& T AT 68 38:32.8 6
6] (RDC) [Z5uh #/ XIF RS 77 41:48.7 5
71 (FH)  Plla T1RE HOTF FA 75 50:43.2 4
8] (m)  [EEA BEN Yv/s IuRi 66 61:45.2 3
(k) [Dull BB ~ ¥~ Y 67 DS 0
(TcC) [NH & VFHR oA 69 DS 0
(A)  |hEE & A>T  ~A)L 70 DS 0
(fE) Mk &= LTHI <Hhv 71 DS 0
(FE) [IlH e o EEY 72 DS 0
(TCC) |}-H INVH B 74 DS 0
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ESIEA IR B EY [ 79 ] DS 0]
¥ FEHtER
[AREES> EFKA 2UHF (2A) vyl BAL BR| EE
1| GE) [k &1 AYTA broa 7 15:27.2 8
2| GR) Do HmET BTN oo 1 25:08.0 6
3 GHR  [HH KA T 5 26:39.3 5
4 B [EE BT A7 U3 4 37:52.5 4
(X)) [ A% FHHDT = 6 DS 0
(#E) g ST e e 3 DS 0
(RDC) | HH A A4 TUA 2 DS 0
B4 FERERER
[AREES> EFKA 2HF (2A) vyl BAL BR| BE
1 GE) U HiE Ny b kw7 20 17:17.2 12
2| (GE) [FELE 8B A/ Ux T3IF 28 17:49.2 10
3| (RDC) [EH Y KER 14 avuXuy 22 18:44.1 9
4 (m) [2 &R K hvav 27 19:28.5 8
5| GF) [l & ¥~ axh 26 21:56.6 7
6] GR) gk & H g ZHY 15 27:52.2 6
(R |KE = FA B A 16 DS 0
(RDC) Il E & HO I FH A 17 DS 0
GE) Ky BAAE] dA ) A 18 DS 0
CE) |=f = PNy 2 19 DS 0
(GE) |5l I1EBH tXTF YT 21 DS 0
GE) kil FERHS HEXY Vayxow| 23 DS 0
(RDC) [HAy IHEZ F 7 T oNLE T 24 DS 0
(X) HH & A A <3 b 25 DS 0
5 FERERER
[FAREES> EFKA 2UHF (2A) vyl BAL BR| BE
1 PIE =K HO~ IVUF 11 18:06.1 8
2| (#EE) Bk & 2T R T 13 21:51.7 6
3] (FR) [FHE EBK AN =Y A 9 30:30.3 5
4] (RDC) |k Bkt YoNH N LE 10 58:42.0 4
(Tco) |5 % AKX VXA 12 DS 0
GE) &L 353 T ¥~ FI=3 8 DS 0
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1)L —4 X 1km _
X F—L
Wiz Bb | F—AE AW sqn |iEbr| BEE | sqn | mEm | mme | B8
1 2 WE—A 12:45.4
2-1 %k H— 3:33.0 6 +43.5 3:33.0 6 +43.5
2-2 K BF 2:58.0 2 +17.0 6:31.0 3 +48.6 40
2-3 ;I 7 3:51.7 8 +38.8 10:22.7 3 +1:23.5
274 ¥E BIS 2:22.6 1 0.0 12:45.4 1 0.0
2 9 BEH—A 12:50.7
9-1 €8 ER 2:49.5 1 0.0 2:49.5 1 0.0
9-2 58 =& 3:16.2 4 +35.2 6:05.8 2 +234| F—Tv
9-3 €8 ER 3:15.9 2 +3.0 9:21.7 2 +22.5
9-4 SR 4 3:28.9 5 +1:06.3 12:50.7 2 +5.3
3 3 MA—A 13:01.4
5-1 {£pE —%k 3:01.4 2 +11.9 3:01.4 2 +11.9
5-2 HHE FE 2:41.0 1 0.0 5:42.4 1 0.0 32
5-3 B BxE 3:16.7 3 +3.8 8:59.2 1 0.0
5-4 HE ¥ 4:02.1 9 +1:39.5 13:01.4 3 +16.0
4 1 RDC—A 13:18.9
1-1 U8 # 3:16.9 3 +27.4 3:16.9 3 +27.4
1-2 &F #FE 3:46.0 6 +1:05.0 7:02.9 4 +1:20.5 28
1-3 =H YEKER 3:37.1 5 +24.2 10:40.1 5 +1:40.9
I e =t - 2:38.8 3 +16.2 13:18.9 4 +33.5
5 4 FBH—A 13:40.9
4-1 ARER 181E 3:30.4 5 +40.9 3:30.4 5 +40.9
4-2 {ElL & 3:54.8 8 +1:13.8 7:25.2 5 +1:42.8 24
4-3 ® PN 3:12.9 1 0.0 10:38.2 4 +1:39.0
4-4 1|58 & 3:02.7 4 +40.1 13:40.9 5 +55.5
6 3 TCC—A 14:38.5
3-1 KA & 4:54.2 11 +2:04.7 4:54.2 11 +2:04.7
3-2 ¥H 3:05.2 3 +24.2 7:59.4 7 +2:17.0 20
3-3 /Miz Fush 4:09.5 9 +56.6 12:09.0 8 +3:09.8
3-4 F = 2:29.5 2 +6.9 14:38.5 6 +1:53.1
7 10 RDC—B 15:07.7
10-1 Zgih B4 3:27.1 4 +37.6 3:27.1 4 +37.6
10-2 A4 & 4:12.0 10 +1:31.0 7:39.1 6 +1:56.7 0
10-3 KiF XHB 3:38.1 6 +25.2 11:17.3 6 +2:18.1
10-4 B& EX 3:50.3 7 +1:27.7 15:07.7 7 +2:22.3
8 7 F—A 16:49.0
7-1 {E g 3:59.8 7 +1:10.3 3:59.8 7 +1:10.3
7-2 EH #& 4:03.9 9 +1:22.9 8:03.8 8 +2:21.4 16
7-3 T B& 4:58.3 11 +1:45.4 13:02.1 9 +4:02.9
7-4 1&% N 3:46.8 6 +1:24.2 16:49.0 8 +4:03.6
9 8 F—A 17.03.3
8-1 JIlO FHR=E 4:22.4 8 +1:32.9 4:22.4 8 +1:32.9
8-2 JIllg = 3:49.2 7 +1:08.2 8:11.7 9 +2:293| F—TF>
8-3 JIlO FHR=E 4:53.2 10 +1:40.3 13:04.9 10 +4:05.7
_ 84 JIlIg = 3:58.3 8 +1:35.7 17:03.3 9 +4:17.9
10 6 BiE—A 17:51.3
6-1 B =2&E 4:35.9 10 +1:46.4 4:35.9 10 +1:46.4
6-2 HLE XX 3:45.7 5 +1:04.7 8:21.6 10 +2:39.2 12
6-3 JIlO At 3:19.5 4 +6.6 11:41.2 7 +2:42.0
___6-4 % {@& 6:10.0 11 +3:47.4 17:51.3 10 +5:05.9
11 11 #F5—B 21:34.0
11-1 ®A B 4:58.1 12 +2:08.6 4:58.1 12 +2:08.6
1-2 £ BHF 8:44.4 12 +6:03.4 13:42.5 12 +8:00.1 0
11-3 IREF 1815 3:49.2 7 +36.3 17:31.8 11 +8:32.6
11-4 ®E /A 4:02.2 10 +1:39.6 21:34.0 11 +8:48.6
12 18 FX—A 26:56.1
18-1 B $8 4:26.5 9 +1:37.0 4:26.5 9 +1:37.0
18-2 dt&& HIT 5:50.3 11 +3:09.3 10:16.9 11 +4:345 F—TF
18-3 Bl HB#It+F 10:04.2 12 +6:51.3 20:21.1 12 +11:21.9
18-4 E#k 93@1 6:35.0 12 +4:12.4 26:56.1 12 +14:10.7
= 12 F—B DS
12-1 RF —3
12-2 B BFE —
12-3 BEEA BN
12-4 28 H&E
— 13 #*—B DS
13-1
13-2 —
13-3
13-4
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